F10E X =-AHIEMTB20RF B AL —X BB 2024.6.29-30

—momiER | 34 | 34 | 34| 18| 18 | 18 | 18 | 18 | 18 | 18 | 34 | 34 km
F—uit] vaets | No |[F—Lg (VOERFI I AT B%  [14-16[16-18 18-20|20-22|22-24| 0-2 | 2-4 | 4-6 6-8 | 8-10 | E{THERE
1 10 |ZEROtoTOPF¥RAX X EE % 7 8 1 14 | 16 15 14 15 15 1 7 7 264.0
2 3 (BBl 5k 7 8 1 13 | 15 15 14 15 13 1 6 8 256.8
3 11 |GDTREAZ7O—KRER A 8 7 1 11 15 14 13 13 13 1 6 7 2426
4 9 |ZEROtoTOPHEHIE&L AEH 6 7 1 12 | 13 14 | 10 13 10 1 6 7 223.2
5 1 |FRUBADITF— L AEH 6 6 1 13 | 12 13 13 13 13 1 5 5 218.6
1 15 |R3L EEREE (REMTBEASAK) AE% 8 7 1 11 14 | 12 12 11 14 1 5 2 213.2

2 | 17 |1t BEBXR(FLRISTN) AEH 7 7 1 12 | 12 10 11 14 14 1 3 3 204.6

6 5 |EhENTKO AE% 7 6 1 12 | 13 14 1 0 4 1 5 8 172.8
16 |4 A2 (FARISTRESMRUTS) AE% 7 6 1 8 7 12 7 10 12 1 2 2 163.8

4 | 18 [HK Bz (FEST&) AEH 6 5 1 6 9 7 8 9 5 1 3 2 138.8

19 |HLE ER(ERGLS AN AEE % 7 6 1 7 5 7 7 0 3 1 2 1 111.8

7 71 |EELDH—HEIN FEIE % 6 5 1 0 1 2 0 0 0 1 1 2 58.2
8 14 |F—LbeYYA AEH 6 5 1 0 3 11 0 0 1 1 1 7 96.8
9 4 |[EnENNDK AE% 6 6 1 12 1 0 0 0 0 0 0 7 91.4
10 2 [BEvTFHAIL AEH 6 6 1 2 0 0 0 5 12 1 0 1 83.6
6 | 20 |RR RE(EELL—KExth) BB 6 3 1 10 5 5 0 0 2 0 0 1 77.0

11 8 |I=hE/NE AE % 7 4 1 0 0 0 0 0 2 1 0 3 56.4
12 12 w5 a—J (9 RA AE % 5 4 1 0 5 0 0 0 3 1 0 1 53.6
13 6 |INESAESH—HERIN AEK 4 2 1 0 1 0 0 0 1 1 1 1 36.0
14 13 |=o9 0—J/N(4H B AEH 2 2 1 0 5 2 0 0 0 0 0 0 29.6




